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HISTORY

Paper II

Time Allowed : 2 Hours] [Maximum Marks : 200

Note :— This question paper contains one hundred (100) multiple choice questions.

Each que'stion carries two (2) marks. Attempt all questions.
In which of the following periods was retouching technique introduced ?
(A) Lower palaeolithic period (B) Upper palaeolithic period
(C) Mesolithic period (D) Neolithic period

In which of the following periods were animal bones used first time for making

tools ?
(A) Lower palaeolithic period (B) Mesolithic period
(C) Neolithic period (D) Chalcolithic period

In which of the following periods were shouldered stone hand axes used for

the first time ?
(A) Lower palaeolithic period (B) Middle palaeolithic period
(C) Neolithic period (D) Chalcolithic period

In which of the following periods was wheat domesticated for the first

time ?
(A) Mesolithic period (B) Neolithic period

(C) Harappan period | (D) Late chalcolithic period

TB.C. : 08/18/SET—II 2
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Which of the following Harappan sites has produced a copper chariot ?
(A) Hulas - (B) Alamgirpur
(C) Snauli | (D) Banawali

Which of the following late Harappan sites has produced evidence of Harappan

and Aryan cultural integration ?
(A) Mitathal II B (B) Ropar
(C) Harappa (D) Pirak

Identify among the following ceramic wares which was associated with the

chalcolithic period ?
(A) Polychrome ware (B) Bichrome ware
(C) Ochre coloured pottery (D) Black and red ware

Which of the following cultural periods is not associated with

urbanisation ?
(A) Mature Harappa | (B) Northern Black Polished Ware
(C) Painted Grey Ware (D) Kushan Period

Identify among the following seasonal water courses which is associated with

the Harappan site of Dholavira :
(A) Saraswati (B) Drishadwati

(C) Ghaggar (D) Manhar

T.B.C. : 08/18/SET—II 4
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11,
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13.

14.

Identify among the following the characteristic feature of the neolithic

pottery :
(A) Polished surface ) (B) Rope design

(C) Fish design : (D) Fast wheel thrown

Identify, amc;ng the following rivers, the western tributat"y of the Indus :
(A) -Gomal (B) Drishadwati

(C) Asikini (D) Vitasta

In which of the following geographical regions the Bharat tribe was located

during the Rigvedic period ?
(A) Bactria (B) West Punjab
(C) East Punjab | (D) Kabul

Who among the following were donated two caves in the Barabar hills by

Ashoka ?
(A) Jainas (B) Ajivikas
(C) Brahmanas (D) Hinyanas

Which of the following castes was not mentioned by Megasthenes in context

of the Mauryan state ?
(A) Philosophers (B) Soldiers

(C) Farmers (D) Singers

TB.C. : 08/18/SET—II 6
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16.

17.

18.

19.

Identify among the following the correct meaning of the term ‘Ahitakas’ :
(A) Mortgaged members of higher varna

(B) Procurel.'

(C) Hired labourers

(D) Living 4t the end

Identify among the following the Jaina saint who accompanied Chandragupta

Maurya to Sravan Belgola :
(A) Jamali (B) Bhadrabahu
(C) Jinander Suri (D) Pushpadant

In which of the following years was the third Jaina council held at

Vallabhi ?
(A) 313 AD. (B) 353 A.D.
(C) 453 AD. D) 540 A.D.

Identify among the following, the date of the first memorial of Sati from Eran
in Madhya Pradesh :

(A) 350 A.D. (B) 375 A.D.

. (C) 470 AD. D) 510 A.D.

In which of the following reigns, the practiée of making land grants became

fairly widespread ?
(A) Satavahan (B) Kushana

(C) Vakataka (D) Gupta period

T.B.C. : 08/18/SET—II 8
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21.

22.

23.

24.

The earliest royal inscription in classical Sanskrit language belongs to which

of the following kings ?
(A) Simuk Satavahan (B) Rudradaman

(C) Samudragupta (D) Chandragupta II

Who among the following Greek rulers is said to have reached to

Pataliputra ?

(A) Antiochus III (B) Demetrius

(C) Menander (D) Euthedemus

Identify among the following the place where Sangam councils were held :
(A) Tanjavur ’ (B) Pondicherry
(C) Madurai (D) Kanchipuram

The Tamil Grammar Tolkappiyam was written at the end of which of the

Sangam Councils ?
(A) First - (B) Second
(C) Third .~ (D) Fourth

In which of the following years was the monsoon discovered by the Greek

sailor Hippalus ?
(A) 46-47 BC (B) 46-47 AD

(C) 106-107 AD (D) 150-151 AD

T.B.C. : 08/18/SET—II 10
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25. Match the kings of List-I with the regions of List-II :

List-I List-II
(@) Achyuta ~ (z) Ahichchhatra
(b) Nagasena (z) Padmavati
(¢) Ganpatinag (2z1) Mathura
(d) ‘Kota ‘ (fv) Bulandshahr
Codes :

(@) ) (c) (d)
A) @ @) @) ()
(B) (@) @) @) @)
C) @) G @ (it)
M G @ (i) (iii)
26. Match the Varnas of List-I.with their entitlement of houses of List-II :

List-I List-II
(@) Brahmana (i) Four room house
(b) Kshatriya "~ (@) Five room house
(¢) Vaishya (zit) Three room house
(d) Shudra (@v) Two room house
Codes :

(@) ®) () (d)
4) @ (@) @i) ()
B) @) @) Gv) 6
© @) @ @ @)
D) @) ) @) @)
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27. Match the Dynasties of List-I with their regions of List-II :

List-I - List-1T
(@) Abhira (i) North-west Deccan
() Kadambas (tt) Maharashtra
() Pallava | (iii) South-east Tamil
(d) - Vakatakas () Berar
Codes :

(@) ®) (c) (d)
(A) @ @) @) @)
B) @) (¢12)) (v) ()
(C) Gu)  Gv) @) (i)
D) @) (@) (z2) (ii7)
28. Match the raw materials of List-I with their sources of List-II :

List-I List-11
(@) Turquoise (Z) Saurastra
(b) Carnelian _ (@) Iran
(¢) Lapis Lazuli (zii) Central Asia
(d) dJade (v) Badakhashan

. Codes :
| (@) (b) (e) d)
A @ 0 Gv) @)
® & @) G G
© Gi) G G )
D) G @ G 6
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29. Match the terms of List-I with the meaning of List-II :

List-I
(@) Karmakara

(b) Pautavadhyaksha

(¢) Rajanya

(d) Pranaya
Codes :

(a) (b)
A @ (@)
B) @ 0273)]
€ @  (Gv
D) @) @)

()
@@ii)
(i)
@
(iv)

(d)

()
(iv)
(iiz)

(ir)

List-IT
(i) Hired labourer
(i) State goods

(1) Suprintendent of weights and
measures

(iv) Gift of affection

30. Match the sites of List-I with the rivers of List-II :

List-I
(@) Navadatoli
(b) Nagada
(¢) Narhan

(d) Pandu Rajar Dhibi

Codes :
(a) )
(A) @) (i2)

B @ @

€ @

D © (ii)
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31.

32.

Consider the following statements :

Assertion (A) : Paddy cultivation was normally raised during the Harappan

period.

Reason (R) : This was the first suitable plant domesticated by the people

during that period.
Codes :
(A) Both (A) and (R) are correct but (R) is not correct explanation of (A)
(B) (A) is correct but (R) is wrong
(C) (A) i1s wrong but (R) is correct
(D) Both (A) and (R) are wrong
Consider the following statements :

Assertion (A) : All production increased considerably during the Kushana

period for the first time.
Reason (R) : The number of artisanal professions went up appreciably.
Codes : |
(A) " Both (A) and (R) are correct and (R) is correct explanation of (A)
(B) (A) is correct but (R) is wrong
(C) (A) is wrong but (Ri 18 correct

(D) Both (A) and (R) are correct and (R) is not correct explanation of (A)

T.B.C. : 08/18/SET—II , 18
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33. Consider the following statements :

Assertion (A) : The position of women declined on a big scale during the

Gupta period.

Reason (R) : Many restrictions were imposed on them as per the available

evidence.
Codes :
(A) Both (A) and (R) are correct and (R) is correct ‘explanation of (A)
(B) Both (A) and (R) are correct bﬁt (R) is not the correct explanation of (A)
(C) (A) is correct but (R) is wrong
(D) (A) is wrong but (l%) is correct

34. Who from the following officers of Iltutmish were the slaves of the same

master ?

(A) Tajik

(B) K.hwaj’a Tash
(C) Turkan-i Pak asl

(D) Sultani

T.B.C. : 08/18/SET—II 20




33. = gwed W faur wifsw :
(A : TW wE § e # e § e
HRUT (R) :Waﬁémmwmﬁuﬁwmml
FE
(A) (A) 3R (R) TF ¥& ¥ 3R (R), (A) = & =@ &
(B) (A) 3R (R) [ & ¥ fvg (R), (A) # To@ =re ¥
(C) (A)aa%ﬁam)m%
D) (A) @ ¥ g (R) ¥t ©

34, mm%mmﬁawmmqm@ém%
T 4 2
(&)
(B) @I
(C) ﬁ-qwm

(D) geart

T.B.C. : 08/18/SET—II 21 RT.O;



35. Qiven below are two statements, one labelled as Assertion (A) and the other

labelled as Reason (R) :

Assertion (A) : Balban increased the numerical strength of the army and
appointed loyal and experienced officers. Their salaries were

increased and they were paid in cash.

!

Reason (R) : Enhancement of the emoluments of the soldiers and keeping
them happy and satisfied was an essential part of Balban’s

military policy.

In the light of the above two statements, which one of the following is

correct ?

Code :

(A) Both (A) and (R) are true and (R) is correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false |

(D) (A) is false but (R) is true

36. Identify the ruler who issued a farman enjoining that protection be extended

by all officers to Jain priests; he himself played holi and consorted with

Yogis :
(A) Muhammad Tughlaq (B) Akbar
(C) Jahangir (D) Bahadur Shah I

37.  Which of the following is not a work of Amir Khusrau ?
(A) Matla’ul Anwar | (B) Jawami’ul Hikayat
(C) Khazin'ul Futuh (D) Qiran us Sadain

" T.B.C. : 08/18/SET—II 22
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38.  Which one of the following pairs is not correctly matched ?

(A) Qur Khanah -
(B) Bulghar Khanah -
(C) Abdar Khanah -

’

(D) Farrash Khanah -

The horse stable
Free eating houses

Department which supervised the drinking

arrangements of the emperor

Establishment of Emperor’s tents

39.  In the town of Bahraich is the grave of which saint who was one of the martyrs

of the army of Ghaznin ?

(A) Salar Masud Ghazi
(C) Hamiduddin

(B) Nuruddin
(D) Nizamuddin

40.  Given below are two statements, one labelled as Assertion (A) and the other

labelled as Reason (R) :

Assertion (A) : Guru Arjan started a system of collecting offerings from the

Sikhs at the rate of one-half of their income.

Reason (R) : To emphasize that the Guru combined both spiritual and
wordly leadership in his person, Guru Arjan began to live

in an aristocratic style.

In the light of the above two statements, which one of the following is

correct ?

Codes :

(A) Both (A) and (R) are true and (R) is correct explanation of (A)

(B) Both (A) and (R) are ttue, but (R) is not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is_ true

TB.C. : 08/18/SET—IIL

24




88. T # 4 =@ gm wl wifew =& & 2
A) WITM - YW
(B) AR @M — AW @ faan w1 @Wm
(€) R @Al — ¥ fawm S wew & W F w w dewe w@ R
©) W WM — W % ws W ek A R
39. TEEH F # 6 Wa #l h ¥ W TN TN B F W A ?
(A) AR THE S (B) TeEH
() wigdH D) s
- 40. 9 RU ) sl F A wO (A) @R w0 WU R) ©

FIT (A) 2 TR I A Toel § AR I & A WM H TR F T F THEE
HH I T [E H

&RUT (R) :wmm@zaﬁémﬁgﬁaﬂwﬁwwﬁmmm
WiE ¥, 6 I N Avyaweht e S owE

o A e & wedl § fer § @ B e wd ¥

- |

(&) @) 3R ®) S W@ E T ®), Q) B W e ¥

B) (A) IR R) I W ¥, W(R), A) F T 2w W ¥
(C) (A) W& 8, W (R) Toid

M) (A) Te@ €, W (R) 98 &

TB.C. : 08/18/SET—II 25 PTO.



41.  Madura Vijayam, describing the devastated conditions of the Pandyan kingdom
was written by :

_(A) Sanchi Honamma (B) dJana Bai
(C) Ganga Devi (D) Tirumalamma
42.  Which of the following statement/s is/are correct ?
(@ The Satnamis were a sect of bairagis who had their own scriptures.
(b) They believed in monotheism, and condemned rituals and supersfitions.

(¢) They were sympathetic to the poor, hence their appeal lay mainly with
the lower classes.

(d) They did not observe distinctions of caste and rank or between Hindus
and Muslims.

Select the correct answer from the codes given below :

Codes :
(A) (a), (b) and (d) only . (B) (a), (¢) and (d) only
(C) (b) and (c) only (D) (a), (b), (c), (d)

43. ~ Which of the following statements are correct ?

.

(@) The Qadriya, Suhrawardi, Kubraviya, Nacishbandi and Nurbakhshi’s
orders were intrqduced in medieval Kashmir from Persia and Turkistan.

(6) The Rishi order was of indigenous origin.
(¢) The Rishi order was founded by Shaikh Nuruddin.
(d) Shaikh Nuruddin’s tomb is situated in charar, near Srinagar

Select the correct answer from the codes given below :

Codes :
(A) (), (¢) and (d) only (B) (a) and (c) only
(C) (a), (b) and (c) only D) (a), (B), (), (d)
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41.  wEn faeram, fowd TreEm gEE & e aerl w1 ave e T g, e
g foret ¥ 7

(A) af<E ZAr (B) w1 W
(C) T <= (D) foermar
42. frafafes 4 § #98 a9 w98 € 7
(@) S aufied w1 s dg a1 s e wiftfe 7Ry 9
(b) % THYEER ¥ favam w@ 4 au wns 9 sufavad #1 9T F19 9
() =% THE & Wi werqyfa wR 9, @ e wEw d s srpEel atus 4
(d) 9% Wfa 3 72 @ fag o goemml § 98 @ o 9
49 for oel | wE IW w1 =wEA FE

@ H
(A) (), (b) 3T (d) Faa (B) (a), (c) 3R (d) FHae
(C) (b) 3R (¢) Fa@ (M) (a), ), (e), (d)

43, Trefafes 3 & w99 9903 9@ & ?
(@) FE0, GevEel, wea!, HEe ay Fae feafae ST AR gieem |8 e
H HyHR § &)
by wfu fosfgen @ €9 F W
(c) M foafeal o werds @ e 9
(d) =T "HaU SR F e 9 H e w

Wl T H 9 A4 fGU M HEl W HW

HE
(A) (B), (c) 3R (d) 5@ (B) (a) 3 (¢) Haa
(C) (a), (b) N (¢) Fae M) (a), (b), (c), (@)
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44.  Which of the following pairs is not correctly matched ?

(Sources) (Languages)
(A) Rajtarangini - Pali
(B) Chachnama —  Arabic
(C) Bab urr'zama —  Turkish
(D) Tuzuk-i-Jahangiri —  Persian

45. Who among the following saints belonged to Kashmir and was associated

with the Rishi silsilah ?
(A) Khwaja Moinuddin (B) Saikh Bahauddin Zakaria
(C) Shaikh Nuruddin (D) Baba Farid

46. Name the Rana of Mewar who built his victory tower at Chittor in the fifteenth
century, and inscribed on it the name of Allah many times along with the

Hindu deities :
(A) Rana Mokal (B) Rana Lakha |
(C) Rana Kumbha (D) Rana Sanga
47.  Which of the following statements is not correct ?
(A) Sher Shah’s ancestors came from Afghanistan
(B) He was born in Kahnauj in 1490 during Sikandar Lodi’s reign
(C) He came to Jaunpur, ;:md studied there in a well-known madrasa

(D) His father gave him administrative charge of the two parganas held by

him, which gave him administrative experience
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44. Trafafeq # 4 $F9@ g@ 98 gifaa @& © 2

(Fr) (wTe)
(A)  TTRAM — TR
(B) == — e
(C) =T | il
(D) gg&H-T-RIirl —  HREE

15 e i @ B R % g0 8 o o w3 2
(A) TN HEEA (B) Y@ WIS SHIA
(C) @ TEEH (D) =& FQ

46, TaTS F 3G TN 1 A waEd T gsed vt § fadig # fosm we sam
iR w8 W fog -2aast & WY reae w AW ff AF AR HAfohd HEET

(A) TOm A | (B) Tom W
(C) Tom (D) Tom G
47. fTrefafe # @ S g W6 @ ¢ ?
(A) IWTE F [N FTHENTEH § AT o
(B) ﬁwﬁémﬁﬁaﬁmwiﬁmmgmm
.(C) a8 MR o R e uw gfys W # foar wew W
(D) 5% f 3 o Q R T a6 oy S8 R R SR

TereH T TNE W g
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48.  Which of the following Hindu Rajas had employed Muslim soldiers in their |

armed forces ?

Select the correct answer from the codes given below :
(@) Deva-Raya II, the Raja of Vijayanagar Empire
() Raja Man Singh of Amber

(e) Shivaji, the Maratha ruler

(d) Rana Pratap of Mewar

Codes :
(A) (@) and (¢) only ' (B) (), ®) and () only
(C) (b) and (c) only .(D) (@), (b), (c), (d)

49. Which of the following pairs is not correctly matched ?

Monument . Place
(A) Chor Minar '~ Delhi
(B) Nim Sorsi Mingr ~  Malda
(C) Hiran Minar - —  Fatehpur Sikri
(D) Kallam Minar | - Lahore
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48, Frefofe feg Tomel § ¥ fFrel ol erer dmsil # oo R BT ge
| q ?

¥ fu T # ¥ W@ SW FOAEH I

(o) fooaR Qa1 TN <@ T

(b) IR H TN AW e

(¢) WU s st

(d) Wars & [N Fa™

W $
A) (a) 3R (¢) FaA | (B) (a), (b) 3R (c) o

(C) (b) 3 (c) FdA D) (a), @), (), d)

49. Trefafed # ¥ @ g 96 gafaa @& § ?

WEH LR
(A) ¥R "R B
(B) M W& HHR C— R
(©) feo ¥R .= magg{m
(D) HeeH HHAR —  ®@RR
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50. Which one of the following statements is not correct ?

(A) Rana Kumbha was an excellent musician and possessed a knowledge

of the science of music
(B) He was an accomplished player on the Veena

(C) He did not have a good command over Sanskrit and Prakrit but had
sound knowledge of Karnataka and Bengali languages

(D) He was also interested in the promotion of learning, and extended

patronage to the scholars

51. When was Rama Raja, the de facto ruler of Vijayanagara defeated at Talikota

by a coalition of Deccan sultans ?
(A) 1525 (B) 1542
(C) 1565 (D) 1575

52. Duarate Barbosa has given graphic description of efficient administration and

the prosperity of the Vijayanagara empire under whose rule ?
(A) Bukka I (B) Deva Raya
(C) Krishnadeva Raya (D) Sadasiva Raya

58,  Portuguese traveller Paes, while visiting the kingdom of Vijayanagara, writes
that, “He is the most feared and perfect king that could possibly be, cheerful
of disposition and very merry; he is one that seeks to honour foreigners
....................... He is a great ruler and a man of much justice, but subject to

sudden fits of rage ............ so gallant and perfect is he in all things.”
Identify the ruler :
(A) Acyuta (B) Krishna Deva Raya
(C) Rama Raja (D) Raj Shekhar
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50.

51.

52.

53.

freafafen # ¥ S o 9@ @ T ?

(A) TN T TH ¥ GiigeR A R wild fomm @1 o= ¥ W &

(B) &% otom arcd # fgm @

(C) 3T WEFA qU WFHA el W Teld ke T off foheg FAtew! qonr s
qS H A T A

(D) 9 99 & YOR # ¥4 W@a 4 qw fage =« @Ew <9 9

Tl Gearl o TS A fasTaTR o arafae (de facto) YT THI TS I deiiehier
% gg H w9 A A ?

(A) 1525 (B) 1542
(C) 1565 (D) 1575

0 IRE 7 fRE T & e § fISETR Wed Sl e S-S
W 399 & weg fewr fwwm § 2

(A) & 1 (B) <9 ™
©) FoRE T D) wRE

el et e fasEER #:t A % RE foed § fF T e | we i
@%,%@Wm%ﬁqmﬁﬁmwﬁaawmm%lagﬁéﬁmﬁm

A W@ T U 98 U WM @ QA e €, fR| SEre it @
S 1 S 9% SR 6 T9 wE H g v ¥ 39 e H 9EeH
by .

(A) =g (B) F™ d [

(C) T T (D) T V&R
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54.  Name the Mughal emperor, who in his autobiography, had declared his twelve

point manifesto for good governance :
(A) Babur (B) Akbar
(C) Jahangir (D) Aurangzeb

55. Name the sevehth Guru of the Sikhs who had friendly relations with Dara
Shikoh and met him in Punjab when the latter fled from Delhi :

(A) Guru Ram Das (B) Guru Angad
(C) Guru Arjun (D) Guru Har Rai
56.  Which of the following statements are correct ?

(@) Chaitanya, a Brahman priest of Navadvip (Bengal) initiated a cult of
Krishna and Radha.

(b) The devotee, repeating the deity’s name pictured himself as a companion
of Krishna at Vrindavan.

(¢) While Chaitanya had his followers mainly in Bengal, he left very active

successors, the gosvamins, at Vrindaban near Mathura.

(d) To his followers Chaitanya himself appeared as a joint incarnation of
Krishna and Radha.

Select the correct answer from the codes given below :

Codes :
(A) (a), (), (), (d) | (B) (a), (c) and (d) only
(C) (b) and (d) only (D) (c) and (d) only
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54. 39 T VS 1 A9 Sagd fga o1t ST § g & fog ane Pi-wes

F OWun H A
A) TR (B) @R
(C) RIMR (D) FISe

55. fowdl % O@d T w1 AW waed fos uirE @ g ey 9, o ve 9w
(erfirrE) fooet ¥ wmm @ T § foem e 3 I 9T &6

(A) T& TEE (B) & E
(C) T® A D) T° &M
56, frfafed § § M8 9% W@ € 7
(@) TEEN9 (SME) ¥ SR GER WA Y FO 9 U GHEE H YRS |

®) mwéﬁmm'mmm@,ﬁmﬁmmﬁm;
¥ gt & w9 # @A ©)

(c) =1 oh AR AHTIG: A § é,%ﬁmn@%ﬁmmﬁmﬁﬁ
& ®Y A I T9A TR DS |

(d) mmﬁﬁ%m%ﬁwmmanmmﬁw-mmﬁl |
@ SW W w9 AW fow T R F @ i

&e |
A) (@), ®), ©), @ (B) (a), () ¥R (d) Hawt
© ®) 3R @ Fa D) () 3 (d) Tt
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57. Emperor Akbar assigned Kangra region in Jagir to Raja :
(A) Man Singh (B) Mota Raja Udai Singh
(C) Birbal (D) Rai Singh

58. Which one of the following Mughal painters was master in depicting birds,

animals, trees and flowers in his painting ?
(A) Abdus Samad (B) Mansur
(C) Miskin (D) Bichitr
59. Which one of the following statements is not correct ?

(A) Shaikh Moinuddin, Shaikh Nizam Uddin Auliya and Shaikh Hamid

uddin Nagori were important Chishti sufis
(B) The Chishti sufis kept themselves aloof from the rulers
(C) Chishti sufis did not allow merchants to live in their dargah
(D) Langars were organised in the Chishti dargahs

60. To which of the following rulers verses are dedicated by Kavindracharya

Saraswati in Kavindrakalpalata ?
(A) Muhammad Tughlaq (B) Akbar

(C) Jahangir (D) Shah Jahan
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(A) FEHE (B) TR
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61.

62.

Match List-I with List-IT and select the correct answer from the codes given
below the lists :

List-1 List-11
(Monuments) (Builders)
(@) Khair v Manazil mosque (z) Nur Jahan
(b) Jahangir Mandir (i) Raja Bir Singh Deo
(c) Jama masjid, Delhi (zii) Maham Anaga
(d) Aitmad ud daula’s tomb (fv) Shah Jahan
Codes :

(@) (b) @ (d)
(A) (i) (i) (iv) (z)
(B) @ (@) () Gw)
(C) () (z) (id) (12L)
Dy @ @) @ (i)

Besides the compositions of Guru Nanak and the succeeding Gurus, the
composition of which of the following saints are included in the Guru Granth
Sahib, the scripture of the Sikhs, compiled by Guru Arjun in 1604 ?

(@) Shaikh Farid (b) Namdeo
(¢) Kabir (d) Ravidas

Select the correct answer from the codes given below :

Codes :
(A) (a), (c) and (d) only (B) (a) and (b) only
(C} (a), (b) and (c) only (D) (a), (b), (), (d)
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62.

T 1 -1 @ gifem it ol R fen @Rl @ wd sw o= wm Fif

eit-1 gei-11
(W) (Fmforerm)
(@) EFE TN AR i) o
(b) TR A=y @) e AR fag 2
(c) < Wi, feeet (i) WHrEW AT
Ad) TAAREE # WA (iv) VIESTEl

[

(a) (b) (€) (d)
(A) (@ @ v Q)
(B) () @ @) G
€ ) @ W) (@)
(D) (&) @) (@) (iv)

e TS T Ik IRUHER el i anht & sfafe foeei & ol vy T T
s, forast Sem 1604 § o o A far a1, # Frafafen § 3 @ faw 94
FI WA wimfem €

= R M R # A wf s W = #ifew
(A) (a), (c) 3R (d) Faa (B) (a) 3R (b) Faw

(©) (a), (b) 3R () FFa D) (a), (b)), (e), (d)
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63.

64.

65.

Who from the following Rathore rulers of Bikaner brought manuscripts on
music from the south to the Bikaner state ?

(A) Raja Rai Singh (B) Raja Anoop Singh
(C) Raja Karan - (D) Raja Sur Singh

About Kangra temple, Ferishta writes that there were in this temple 1300
books written by Brahmans of old times. Sultan Firuz Tughlaq sent for the
learned men and had portions translated. Out of these abstract Izzu-d-din
Khalid Khani, who was a poet, composed a book in verse on the science of
omens. It was called :

(A) Ain-i Jwalamukhi (B) Sirat-i Firuzshahi
(C) Dilail-i Firuzshahi (D) Nuskha-i Firuzshahi

Match List-I with List-II and select the correct answer from the codes given
below the lists :

List-I (Authors) List-II (Books)

(@) C.B. Asher : (i) Indian Painting under the
Mughals A.D. 1550 to 1750

(b) P. Brown (@) Art and Material Culture in the
Paintings of Akbar’s Court

(¢) Ashok K. Das (iii) Mughal  Painting during

A Jahangir’s Time
(d) S.P. Verma (iv) Architecture of Mughal India
Codes :

@ ® © @
@ G G @ 6
® @ O @ @
© G G @O G
O O G G G
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63. Frefafed diFwrR & Tce vl A ¥ SAG T §ih ¥ graf-ga qogfarmr g
F AFER T F AR I @ ?

(A) TN TEfEE (B) T= ey oz
(C) ST W (D) w1 W foz

64. wiTer o wit & gy H whvar foem € 59 wfe d sl g W e
A faet ¥ 1300 v of | gear e gres 3 e fagrl @t G ol geae
¥ g0 ol & SR @ @ 9R | e @ @, S w5 o,
A YFA (omens) & fa9™ W 7@ A TH & & A # | W [EE H wHES

= oa 7
(A) IEA-T FremE! (B) Hra-u frdseme
(C) Toraa-u frdmems (D) TEI-U frdeemsE!

65. gI-1 # gEI-11 ¥ gifem #ifoe ofk gfedi & 4 foo g 2 @ W@ W
M

-1 TEt-11
(FaF) | (g&Th)
(@) WS R (i)  3fveFT =T 3T & Fow 3. T 1550
| 1750
(b) . FEA @) o2 wF BEifiger Feaw ¥ G W
HIF sFTH FZ
(c) ok F. T (i) T AT SgfT R 2w
(d) TH. 9. T (iv) SfheF=R 3 Jel 3l-ean

e
(a) ®) (o (d)
(A @) Gv) @) @)
(B) (w) @ (i) (@)
(C) @ ) @) (iv)
(D) @) @)  Gv) Q)
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67.

68.

69.

Arrange the following Mughal emperors in chronological order :
(a¢) Bahadur Shah I (b) Aurangzeb

(¢) Farrukh Siyar (d) Jahandar Shah
Select the correct answer from the codes given below :

(A) (), (B), (d), (@) (B) (), (a), (e), (d)

(C) (), (a), (@), (c) (D) (a), (B), (¢), (d)

Of the following, who was both the governor of Bengal, and the Governor
General of Bengal ?

(A) Robert Clive (B) Lord Cornwallis
(C) Sir John Shore (D) Warren Hastings

On which following condition, the rebel sepoys crowned Birjis Qadr as the
king of Awadh in 1857 ?

(A) To recognize the authority of Rani of Jhansi

(B) To recognize the Mughal Emperor as the sovereign authority
(C) To pay Rs. 10 lakhs to the Marathas annually

(D) To reduce the land revenue demand of peasants to 10%

How much land revenue was lost to the company in frequent sale of Zamindari
estates in Bengal and Bihar between 1794 and 1807 ?

(A) About 21% (B) About 31%

(C) About 41% (D) About 51%
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66. 4 U T TS WHHI F TAF FEHITIN Fatyd HiT
(@) =@ WE 1 (b) IR
() EERER (d) RS
TR frw oS § ¥ W I B T
A (o), ®), @), (a) (B) (®), (a), (c), (d)
(C) (®), (a), (d), (¢) (D) (a), (b), (c), (d)
67. frafafes & S smel #1 TR TN TG B - 9 ?
(A) U2 Tz (B) e wranfer
(€) W S ¥R (D) @A e
68. 1857 ¢ ¥ fagidt fawfedi 3 <o #1X 1 f1 fvw v W @y 1 T

A ?

(A) it & T F OUYE EER w5
(B) YT HYEZ F TYEW WEHERK HA

(C) wudl = 10 @@ ¥93 Fiftfe <

(D) ﬁmﬁm&_—wmmw%m

69. 1794 @ 1807 5. & w19 amet ao faer # faray sl =1 i fad & s
F A fFam -t o ?

(A) =M1 21% (B) =mYT 31%

(C) &I 41% (D) =m4m 51%
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70.

71.

72.

73.

Of the following, who was not the member of the Board of Administration

in Punjab, 1849-53 ?

(A) Henry Lawrence (B) Munro
(C) John Lawrence (D) Charles Mansel

Which of the following was not the demand of the Indian educated middle

classes during the colonial period ?

(A) Separation of executive and judicial services

(B) Simultaneous ICS examination to be held in India and England
(C) Reservation in Government jobs for the middle classes

(D) Reduction of “Home Charges”

How many seats were reserved for Muslims in the separate Electroates under

the Morley-Minto Reforms, 1909 in the Central Legislative Council ?
(A) Eight (B) Ten

(C) Twelve (D) Fourteen

Who was the Congress President in its session of 1916 ?

(A) Motilal Nehru

(B) A.C. Majumdar

(C) Saiyad Badruddin Taiyabji

(D) C.R. Das
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72.

73.

1849-53 3. ¥ Tura H &g e uefufwdvE (Board of Administration) = &=
A BH S T g 2

(A) 0 af= (B) T

(C) S @R (D) =" e

e o § e fofen w9 e G
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(C) wA-av = Wi el § smew 3
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Al g, 1909 & S = favm ufteg, § frem wfem fratae-d amfem
fFg 2

(A) 08 (B) 10

(C) 12 (D) 14

1916 3. & FOW AMEGYH F1 TG B @ ?

(A) Hriere T

(B) T . #9HER

(C) He FeEEA et

(D) 4§ 3| T™
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74.

75.

76.

7.

When was the LL.B. Degree instituted by the Muhammadan Anglo-Oriental

College of Aligarh ?
(A) 1887 (B) 1890
(C) 1893 ' (D) 1896

Who among the following, blamed the lack of manliness and the feminine

passivity of the Hindus to Radha, etc. ?

- (A) Rama Krishna Paramhansa (B) Swami Dayananda Saraswati

(C) Swami Vivekananda (D) Ram Mohan Roy

In the time of which Viceroy of India, was the Saddler Commission of

Education appointed ?
(A) Lord Curzon (B) Lord Minto
(C) Lord Hardinge (D) Lord Chelmsford

Who translated V.D. Savarkar’s book, First Indian War of Independence into

the French ?
(A) M.P.T. Acharya and Madam Rustam Cama

(B) Lala Hardayal and Madam R. Cama
(C) 8. Krishnavarma

(D) M.P.T. Acharya and S. Krishna Varma
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74.

75.

76.

717,

FTeig % e Te-alfiGee Hen 3 twuE . (LLB) ® foit 3 == =
F ?

(A) 1887 (B) 1890
(C) 1893 (D) 1896

= ¥ T fegell 4 dew &1 Ft qw T0-wda ffspaa & fau 0w, =%
& ITEE /O ?

(A) TEFT THEH (B) @ TaM= W
(€) @it fdsm= (D) THHEREA T

foren & Yeer Fuhvm =t FafE e awwma & w9 @ 2
(A) @rE ws (B) @fE fa=

() @ =i (D) @i J=ymre

oft. €l wEE w1 ghE, W IaT an ofw ey # e 4 aqEe fFe
e 2

(A) R 9. & HA=E 99 Tew TEH HE
(B) TIell B@A™ a9 HSH 3N &I

(C) uwd. FoEH

D) wW b & s=d 9w . FoEH
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78.

79.

80.

81.

Identify the name of the Harijan couple, which started living with Mahatma

Gandhi at the latter's Sabarmati Ashram :
(A) Ramabai and Hardeobhai

(B) Ramjibhai and Gangabehn Badhia
(C) Kahnbhai and Lalna

(D) Haribhai and Meeno

Of the following, who told his party members about the futility of the

Constitutional Assembly, when the Government of India Act, 1935 was already

there ?
(A) B.R. Ambedkar (B) Subhash Chandra Bose
(C) C. Rajagopalachari (D) Acharya Narendra Dev

When was the Gateway of India opened for the public ?
(A) 1922 (B) 1923
(C) 1924 D) 1925

Under whom was appointed the Linguistic Provinces Commission by the
Constituent Assembly in 1948, to enquire into the desirability of the linguistic

provinces ?
(A) K.M. Panikkar ' (B) Rajendra Prasad

(C) M.C. Chagla (D) S.K. Dar
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78. o BFeH T werew TMH % 91y Ik GEHdl ™ H WA o, S W 3
TgaH hited

(A) THEE T LI

(B) THSIHE a9 Ti’ﬂa'a':l. e
(C) FEAE qU e

(D) BRwE der W

79. = # fFoy oot URl & GeEll 1 9Rd §R % 1935 3. % IfufEe & wed

¥ & 89 & FRU, GEggH |9 A A Y waqdn ?

(A) . IR IFEEH | (B) {uIw== ¥
(C) . TSRl (D) oT=r g 3
80, e s dfew S % U e wren T 2

(A) 1922 (B) 1923

(C) 1924 D) 1925

81, W Wl i aiead S % fou 1948 € H wfaum g 3 el s §
g e wHeE e fe 2

(A) . TH. ufTeR (B) Toi= WO

'(C) TH. 9. 9Tl (D) TH. &. TR
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82.

83.

84.

85.

86.

The non-Congress Chief Minister of which the foliowing state was dismissed

in emergency by the government of India ?

(A) Gujarat (B) Assam

(C) West Bengal (D) Karnataka
How was the' Planning Commission set up in 1950 ?
(A) Through a resolution of parliament

(B) On B.R. Ambedkar’s advice

(C) Through a Constitution Amendment

(D) Through a Cabinet Resolution

Who made the painting of Bharat Mata (Mother India) ?
(A) Abanindranath Tagore (B) Amrita Shergil
(C) Raja Ravi Verma (D) Jatin Das

Which socio-religious reformer sent a memorandum to the Governor-General

protesting against the founding of the Sanskrit College in Calcutta ?
(A) Swami Dayananda Saraswati (B) Swami Vivekananda
(C) Raja Ram Mohan Roy (D) D.K. Karve

Under whom was set up the Metereological Department by the Government
of India in 1875 ?

(A) H.H. Wilson (B) William Jones

(C) Birbal Sahni (D) H.F. Blanford
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82.

83.

84.

85.

86.

ammﬁﬁnmwésﬂw-mg@ﬁﬁmmim.?
(A) TSd (B) 8H

(C) ufv=m & (D) Ffew

1950 % H ASE sEm & v Y g 2

(A) TW F WEE gN

(B) . ¥R Iy=rgat # wEw ¥

(C) Hawue o gr

(D) wWf=Mved & y=E B9

YRd M (WX sfed) ¥iE @1 fa9 (painting) FEY @ 2
(A) A 2R (B) 379l IRFTe

(C) = 39 ani (D)Trff;‘fﬂ‘s'm

e e - wifiien Gemen 3 s 3 S Tefamrer wifte w0 % fay 3§ Tt
H AH-TF I ?

(A) @l TR (B) @@t fagdsm=

(C) T [HHET 1Y D) & # Fd

1875 £ # 9N WEHR ¥ et svmem ¥ dwm-fasm e fea 2
(A) T = fawwm | (B) fafemm st |

(C) #ae et (D) TH. Uk =AFHE
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87. Of the following, which was one of the 11-point ultimatum, which
Mahatma Gandhi gave to Lord Irwin about the Civil Disobedience Movement

in 1930 ?

(A) There would be no Civil Disobedience Movement if his demands were

met by March 05, 1930

(B) There would be no Civil Disobedience Movement if his demands were

met by March, 08, 1930

(C) There would be no Civil Disobedience Movement if his demands were

met by March, 11, 1930

(D) There would be no Civil Disobedience Movement if his demands were

met by March, 15, 1930

88. Arrange the following in correct chronological order, and choose the correct

answer from the codes given below :

(i) Macaulay’s Education Minute

(if) Tripartite Treaty between Ranjit Singh, Shah Shuja and English
(i) Death of Raja Ram Mohan Roy

(i) Ranjit Singh's meeting with William Bentinck at Ropar

Codes :
(A) (i), (iv), (i), (i) (B) (), (@), (iv), (ez)
(C) (iv), (1), (i), (2) (D) (iv), (1), (2), (i2)
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87.

88.

fretfafen § wae T g e e i 1930 € # wfgw sEen ke & AR
# & m -EEE Yaed B A wEe oAl ?

(A) =Afg I\FT #H 05 T, 1930 9% TF o TE, @ GfETg FET ReH A
B

(B) ufg 3=t #f 08 HHE, 1920 dF HA ot T, @ wfegTE Ed SREE T8
EALl

(C) afe @ |1 1 o 1930 @F WR W T8, @ SfaTg e SRe TE
Bl

(D) o sEE WE 15 e, 1930 9@ WA e TE, @ WA o REed T
am

firefefen 5 98 FEETER Qe Hifvg @ 9 o T g | '@ s F
Wﬂﬂf\iﬂ:

(i) T w1 foen WE=E (Minute)
i) ot fie, e wen ad st 5 s e 9ty
(iti) TS1 UEEE T w9

(iv) tm@aﬁsamﬁfaﬂﬂﬁﬁaaﬁfmgﬁm

&<
(A) (i), Gu), (@), (i) (BY (), (2), Giv), (iir)
(C) (i), (i), (iir), (i) (D) (), (L), (D), (i)
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89.

90.

Arrange the following in correct chronological order, and choose the correct

answer from the codes given below :
(1) Sarda Act

(1) Gandhi-Irwin Pact

(zii) Nehru Report

(v) Congress passes Resolution of Civil Disobedience Movement

Codes :
(A) (@), (iv), (i), (iii) (B) (i), (&), (iid), (iv)
(C) (), (1), (iv), (i) (D) (), (i), (1), (izd)

Given below are two statements, one is labelled as Assertion (A) and the

other as Reason (R) :

Assertion (A) : Most of Mahatma Gandhi’s movements were withdrawn half-

way.
Reason (R) : He did not want to compromise with Truth and Ahimsa.
In the context of the above statements, which of the following is correet ?
(A) Both (A) and R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is correct, but (R) is false

(D) (A) is false, but (R) is true
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89. Frefafen #1 @& wemrAeR Fafea Fife gar 99 e T o5 ¥ o =
T FHifag

() YME TR
Gi) e-gE TR
(i) Tew foed

(fv) F9 g GigT™ aow ACed &1 ¥ UiE| 6

&
(A) (), (iv), (&), (ixd) (B) (1), (1), (iit), (iv)
(C) (), (), (), (i) (D) Gv), (), (), (zid)

90. %ﬁwmmﬁ.ﬁaﬁwm)ﬁm@iﬁmm}mw%:
HIT (A) :mmﬁ%aﬁmmaﬁaﬁammml
RO (R) : 9% 6§ od 3feq & WY FE gl T4 Fon A 9
IRF Tl & ded § frefefon ¥ @ s @@ ¥ 2
(A) (A) 741 (R) 3 w8 §, 9w (A) 71w =men (R) ®
(B) (A) W (R) Fi W& %, fog (A) %1 ¥t = (R) 78 %
(€) (A) w& %, fFg {R}w%

(D) (A) 7o &, g (R) W&t
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91.

92,

Given below are two statements, one is labelled as Assertion (A) and the

other as Reason (R) :
Assertion (A) : Swami Vivekananda made Hinduism popular abroad.

Reason (R) : He was the first Hindu missionary to spread Hinduism there
» in the 19th century.

In the context of the above statements, which of the following is correct ?
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is correct, but (R) is false

(D) (A) is false, but (R) is true

(Given below are two statements, one is labelled as Assertion (A) and the

other as Reason (R) :

Assertion (A) : Arnold Toynbee makes a systematic comparison of 21 civi-

lizations of the world.

Reason (R) : This is done to prove the superiority of the western

civilization by him.
In the context of the above statements, which of the following is correct ?
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is correct but (R) is false

(D) (A) is false, but (R) is true
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91. R @ aFed fu my ¥, wH W HAT (A) TO TR R HAOT (R) T AT
O (A) ;R ) RRd § feg wd @ At

FIUT (R) : 1991 v # a7 Tea feg fawmdt @ o @el w feg o
e |

Eﬂﬂﬁﬁiﬂﬁﬂ%ﬁaﬁﬁﬁﬂfﬁﬁaﬂﬁﬂm'ﬂﬁ%?

(A) (A) @ (R) 3F1 #&@ & aw (A) &1 & =;e (R) ®

(B) (A) W (R) ¥t Wt €, fg (A) 1 W&l =& (R) 76§
(€) (A) @@ %, f&g (R) Tom ¥

(D) (A) Tem ¥, T (R) 9@ &

92. M o Fwsa foy mu ¥, ©E & ®AT (A) T4 T FH HWOT (R) FE T
T

HIT (A) : e T A fava w21 waEsd F FEEs [ H g
FAOT (R) : F=r d@ ofvasd gura #1 gsa wovm w9 & fae fFn R
i Seedl % dod # Frefafen § ¥ SR w@ ¥ 2

(A) (A) @ (R) 3F1 &t ¥, aan (A) ! W& = (R) ©

(B) (A) 7e (R) 3Fi W& ¥, fvg (A) # W& =@ (R) T %

©) (A) @ ¥, f5g R) W T

(D) (A) Tow ¥, fFg (R) W@ &

T.B.C. : 08/18/SET—II 57 : PT.O.



93.

94.

Match List-1 with List-II and select the correct answer from the codes given
below the lists :

List-I List-1I
(Authors) (Books)
(@) D. Dalton (i) Indian Mussalmans
(b) V.P. Menon (ii) Untouchable
(¢) Mulk Raj Anand (tiz) Mahatma Gandhi : Non-violent
Power in Action
(d) Sir William Hunter (iv) The Transfer of Power in India
Codes :

(@) (b) (c) (d)
(A) () (2) (Gi)  (v)
(By @) (w) @) ()
C) @ (v) (@) )
D) @) @ (z1) (iz)
Match List-I with List-II and select the correct answer from the codes given
below the lists :

List-I List-I1
(Persons) (Organisations)
(@) Keshav Chandra Sen (i) India House (or India Home Rule
Society)
(b) Narayana Guru (ii) Bombay Presidency Association
(¢) Ferozeshah Mehta (1) Nab Bidhan
(d) S. Krishna Varma (fv) Sree Narayana  Dharma

Paripalanda Yogam
Code :
(a) (b) () (d)
(A) @ (@) vy @)
(B) (&) (1) ()  (w)
(C) Gu) (v (&) (2
(D) Gv) @) (2) (u11)
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93. glﬁ@—uﬁgﬂﬁﬁﬁmﬂtaﬁﬁ%ﬁmmﬁﬁuﬁw

gar-1

(FrEe)
(@) @ A
(b) ot @ #T
() HeF T A<
(d) @ fafagm &=
&T

(a) ib)

(A) (@) ()
(B) @)  (w)
C) © (iv)
D) @ @

()
(#it)

(2z)

(i)

(z2)

(d)
(iv)
(2)

(i)

(ii2)

gEt-11
(T&TH)
() 3feFT gy~
(i) FFeHacT
(i) e M ; A WET 3 TR
Gv) f& Zrgwe e wiar &7 gfew

94, %Iﬁaﬁullﬁgﬂﬁaaﬁﬁqaﬂxiﬁﬂﬁ%ﬂ%ﬁqﬁﬁww

geit-1
(@)
(@) HyEas 9

() TET T
() TRiewme HEa
(d) w§. Fo wH
E T
(@) (b)
(A) @) (2it)
(B) @) (2)
(C) @) v
D) @) @)
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(e)
(i)
(i)
(i2)
(@)

(d)
(i)
()
(i)
(i)

59

wE=t-11
(wE)
() sfem eew (Fwa 3few oW &
TR )
() dwfa JEE TEifgueE
(i) 7= faum
(iv) o TREw ud uftren d
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95. How many reserved seats were provided for the Depressed classes in the Joint

Electorates in the Poona Pact, 1932 ?
(A) 145 (B) 151
(C) 156 ' (D) 162
96. Which of the following statements is not correct about B.R. Ambedkar ?
(A) He was in favour of Social and Economic Justice

(B) He resigned from the Nehru cabinet for not getting support on the Hindu

Code Bill

(C) His Scheduled Caste Federation won only 5 seats out of 151 Reserved

seats 1n the election of 1946

(D) He first demanded Separate Electorates before the Simon Commission

in 1928

97.  Which of the following women was not asked to participate in the Second

Round Table Conference in London ?
(A) Sucheta Kriplani

(B) Sarojini Naidu

(C) Begum Shah Nawaz

(D) Radhabai Subrayan
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95. W U, 1932 %. ¥ e A & fAw wyw 47 H R M (seats) G fRu

96.

97.

Mg 2
(A) 145 (B) 151
(C) 156 ; (D) 162

Sl R spaeEt o R W frefafed § @ s g 98 w8 £ 2
(A) =& gHifSs Qo onffe = & uy H oo

(B) feg =Ie foet & fou wema 7 faem & ®Rw 589 Jew Af=mvea ¥ @mmo
fezam

(C) 19463‘@5@1‘-?@3\3@%%@@%151 e T ¥ Shad
e
D) 3T FEIIH 1928§.ﬁwmﬂ@gwﬁa‘iﬁ?&ﬁﬁﬂnﬁ

Freferfior 5 S 91 oigt § o fedt Meds Wi & o O % fou T

w@ T 2
(A) oM FIAR
(B) ®fSH 7mag
(C) <™ I a1y

(D) TUEE oA
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98. Which of the following historians was a member of the British delegation

to the Paris Peace Conference after the Second Worlﬂ War ?
(A) E.H. Carr
| (B) Travelyan’
(C) J.AR. Marriott
(D) Arnold Toynbee
99. Which of the following is not true about Ranke ?
(A) Insistence on use of contemporary sources
(B) Vital role of religion in history
(C) To shun pre-conceived biases
(D) Belief in political liberalism
100. Which of the following is not correct about Thucydides ?
(A) His book is unfinished
(B) He gives an almost impartial description of Athens and Sparta
(C) There is element of feaI: of king in most of his description

(D) He prefers to give the eye-witness account of the war
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98. fm=1 d ¥ s shwwen fdm fawe-ge & wen Mfm wik wem 9 fafewm
yfafafumvee &1 ¥ a1 7

(A) 3 TE HR
(B) gfoem
(C) ¥ T R HfE
(D) sTfes et
99. U & W # Froafafes § & @ wdl & € ?
(A) HEFEE FH 6 SYEr W
(B) sfaer # wd =i "oyl yfaw
(C) qH-wreats vyafed | =
(D) TeHifos RWraEe 5 foavas
100. =1 # F yfiedey & sR A F W TE ¥ ?
(A) SHE! TWE Q0 T foel W ¥
(B) &% UdW qdl wWEl %1 gviA ey freg @
(C) o T § s T F W W A R

(D) 9% q¢ F1 TAEE gur oF dRd €
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